25

series

205 OF=CIo|E
Aluminum anodizing

dstE H 1&8 TS A=0{|0]E]

1O Lo
Electric actuators for lightweight and high speed

2 A32
Ball screw type

=x| AIO|= 025 - 028 - 046 - 062
Body size 025 - 028 - 046 - 062

ZE /338 /I7o|=
Straight/Parallel/Guide



PSB Series

Z284 Order Information

[ o6 )-(300]-[s 10 ]-(2]-[rsr

@ @ ©) @ ® ® O ©

@ Al Type

‘ PSB ‘ = A3F EFR Ball Screw Type

@ 2| Al0|= Body Size

| 025 | 025 ‘ 028 | 028 | 046 | 046 | 062 | 062
@ Y& Shape
S : =& Straight Type P : & Paralle Type G : 7l0|E Guide Type

@ AEZ3 Stroke

50
200

| | 50mm 100 100mm 150 150mm

| 200mm | 250 250mm 300 300mm

® Z2E Et Motor Type
| S | Servo T Step

® ZE| 22F Motor Capacity

7ls 8(W) 046 062
10 100W ®
20 200w P

% DE U 287| MES IR Felhol 2250 FUAIR.
Please contact your nearest sales office for motor and reducer selection.

@ E2i|0|=2 B2} Motor Brake

| None | Without Brake B | With Brake
MM £2F Auto—s/w Qty
\ 1 | 171 o2 274 N 7k
© OFRE E=ajZl Mount Bracket (Option)
| FF | EEE FUX | FM | X ORE | FSL ‘é&!l.* X OIRE ‘ TRN ‘EEHLI?J O2E
Flange on load side Foot mount Axis right angle foot mount Trunnion mount

X OI2E Saj2IS MetaterelLc

= ==

Mount bracket is option.

264



= Smart Actuator

AF2F Specifications

= a4
&=
2 AtO|= Body size mm
2L AA Rod diameter mm
AT=Z XA Screw diameter mm
ATZ B|E Screw lead mm/rev
HH=Z M Reapeatability +mm
Z|HHAEZ 3 Max stroke mm
Z|HEE Max speed mm/sec
8l Force (X-axis, Z-axis)(%) Kaf
7|2 XHZ! Basic materials
X2 7|&E ZEQ HEX| UULICH ZEH HZE A
%252F, 28ZtMIZE2 A L= RHIURE 2510

=2F Weight

AERS] xy gl (PSBOOIOS)

Stroke Straight type

(mm) 046 062
50 1 2.3
100 1.2 2.8
150 1.4 3.2
200 1.6 3.6
250 1.8 4

NN

(e}

A -

PSB046
046
$ 20
#12
5,10

0~300
250, 500
X140 Z:20

2H or= |:||

=
A

rlo (i

=T
A 0O
4% ol

Zt
HA

AL,

oo

9]

-|>1

| —
=
=
o

0.05

PSB062
062
$ 25
3 12
5, 10

0~300
250, 500
X:60 Z:30

iHOI’é,| Black Aluminum anodizing

=8

HE el (PSBOOOP)

Parallel type
046 062
1.1 2.3
1.3 2.8
1.5 3.2
1.7 3.7
1.9 4.2

[alal

A -

71o|= ElY (PSBODOOG)

Guide type
046 062
1.6 3.6
1.9 4.2
2.2 4.8
2.5 54
2.9 6

N N

(ol ol

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

[}
he)
S
)
2
3
Ko}
w
[a8)]
I
a
~
[an)]
(9p]
a

\ SBAC \Gearbox

265



Xl 2% Dimension (mm)

266

S =z

E}Ql Straight type

o=

=T Mg
3 The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

s & T 0
) 1 1
=all ‘ !
| | o] ]
S(Stroke) ’ A
ﬁ: Pl
Nzﬁg,r _— =i
= )
C
E
AER3T PSB046 S
Stroke | A B C D E F G H [ J K L M N
50mm | 39 20 168 52 220 @20  MI0Ox125 @32 12 14 36 46 - @45
100mm | 39 20 218 52 270 | ©20 MIOx125 @32 12 14 36 46 - @45
150mm | 39 20 268 52 320  ©20  MI0Ox125 @32 12 14 36 46 - @45
200mm | 39 20 318 52 370 @20  MI0Ox125 @32 12 14 36 46 - @45
250mm | 39 20 368 52 420 @20 MI0Ox125 @32 12 14 36 46 - @45
300mm | 39 20 418 52 470 @20  MI0Ox125 @32 12 14 36 46 - @45
AERT PSB062 S
Stroke | A B © D E F G H [ J K L M N
50mm | 57 32 182 70 252 | @25  Miax15 | @42 | 12 21 48 62 - @65
100mm | 57 32 232 70 302 @25 M4x15 | @4 12 21 48 62 - @65
150mm | 57 32 282 70 352 @25 | M4x15 | @42 12 21 48 62 - @65
200mm | 57 32 332 70 402 @25 Mi4x15 @ @42 @ 12 21 48 62 - @65
250mm | 57 32 382 70 452 | @25 | Mi4x15 @42 12 21 48 62 - @65
300mm | 57 32 432 70 502 @25  Mi4x15 @42 12 21 48 62 - @65
X2 ME AYMo| 252 UE Y ZE MEF2 MU2 SH| A floted A o 1glo] HAE 4 USLICE



Xl 2= % Dimension (mm)

I.' Smart Actuator

P w==iErQl Parallel type

s R
58 n b !
N " =
]:jtie N (% S —EL D
: ? |
S(Stroke)
=)
; |
=
S
|
[ y
_—-
=
L] i
C
AERT PSB046 P
Stroke | A B C D E F G H [ J K L M N
50mm 39 20 168 37 205 220 MIOx125 @ @32 12 14 36 46 91.5 @45
100mm 39 20 218 37 255 220 MI0 x125 @32 12 14 36 46 91.5 4.5
150mm 39 20 268 37 305 @20 MIOx125 @ @32 12 14 36 46 91.5 4.5
200mm 39 20 318 37 855 220 M0 x125 @32 12 14 36 46 91.5 245
250mm 39 20 368 37 405 320 MIOx125 @ @32 12 14 36 46 91.5 @4.5
300mm 39 20 418 37 455 220 MIOx125 @32 12 14 36 46 91.5 4.5
AEZT PSB062 P
Stroke | A B @ D E F G H [ J K L M N
50mm 57 32 182 a4 226 @25 M4 x15 @42 12 21 48 62 129 76.6
100mm 57 32 232 44 276 Q25 M4 x15 @42 12 21 48 62 129 6.6
150mm 57 32 282 a4 326 @25 M4 x15 | @42 12 21 48 62 129 6.6
200mm 57 32 332 44 376 @25 M4 x 15 @42 12 21 48 62 129 6.6
250mm| 57 32 382 a4 426 @25 M4Ax15 @42 12 21 48 62 129 | ©6.6
300mm| 57 32 432 44 476 @25 Ml4x15 @42 12 21 48 62 129 ©6.6
X2 MHE Mol £EE U8 X 2= MB2 MA2 SZe| S fIoto] AR oflzglo] HEE 4 UFLICH

3# The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

267

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

-
he)
S
B
g
©
@
w
aa)
T
a
~
aa)
(9p]
a

\ SBAC \ Gearbox



X4 % Dimension (mm)

G 7t0|=Et! Guide type

E;

B I =
L L —
D
2x2-L ?‘Lﬁ oM
1o/ —
$€%/A — | J @—m
olul @1 o-lo 0 EL I
[
pemjii=——
- J $ \— 2x2-N
H |8
S(Stroke) A

AERT PSB046 G
Stroke | A B c D E F G H | J K L
50mm | 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
100mm =~ 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
150mm | 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
200mm =~ 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
250mm | 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
300mm 33 14 128 46 112 30 100 38 84 26 50 @65 M6 M5
AEZ3] PSB062 G
Stroke | A B C D E F G H [ J K L M N
50mm | 41 16 164 62 146 42 132 44 118 30 68 ©85 M8 M6
100mm = 41 16 164 62 146 42 132 44 118 30 68 ©85 M8 M6
150mm | 41 16 164 62 146 42 132 44 118 30 68 ©85 M8 M6
200mm 41 16 164 62 146 42 132 a4 118 30 68 ©85 M8 M6
250mm | 41 16 164 62 146 42 132 a4 118 30 68 ©85 M8 M6
300mm 41 16 164 62 146 42 132 44 118 30 68 ©85 M8 M6

*Z OI2E(FM) S8 J101E EFY 0l HE0l SItELICH

# Foot mount (FM) option is not applicable to guide type.

*2 ME dGM +EE UHE H 2E MEQ M2 S LS 2I5t0] A o 2glo] HAE 4 USFLICL

# The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

268



DIREY3! X2 % Dimension of Mount Bracket (mm) = Smart Actuator

FF =c= z=aix| ol2E Flange on load side

.|

e
!
L

Tgl X|4= Dimension (mm)
Body Size A B c D E =
1046 86 46 70 30 12 @6.6

1062 110 62 90 42 12 29

FM = oi2E Foot mount

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

w g
[ =}
zl Ji«\z L é
Lo :
T
[T T + I \\4@ — %
J
J L [
T THT \LH\ =
e | LN
D
Tyl X|%* Dimension (mm)
Boay Size A B © D E F G H [ J K L M N
0046 46 | 54 31 32 21 30 16 6 R275 67 8 | @65 10 26
0062 62 74 43 32 20 4 20 8 ' R45 8 | 104 @85 12 35

\ SBAC \ Gearbox

269



H2! Xl2=% Dimension of Mount Bracket (mm)

FSL sx2t =

OF2E Axis right angle foot mount

o

Body Size A
0046 82
0062 104

TRN

20

D

X|#= Dimension (mm)

C D
67 15
85 20

Ez{L2 Or2E Trunnion mount

Q|

o

4:%% :q[%
Eﬁ@- =

U,

E F
8 @6.6
10 a8.5

oy

Body Size A
0046 87
0062 122

*ﬁc*
fi

i =

|4 Dimension (mm)

C D
6 10
8 12

57

78

28

40



HHB

series

2=0l= Ot=C}olE

Aluminum anodizing

1s5Hs & XL TS HF0i[0]E]
Electric actuators for For transferring with heavy load and middle—low speed

£ ASS Et
Ball screw type

=x| Af0|= 062 - 080 - 100 - 120
Body size 062 - 080 - 100 - 120

d /HE / 710|=
Straight/Parallel/Guide



PHB Series

FE284| Order Information

B ooz 5 -(500 -5 40 - 2]- .

® @ ® @ © & ©
@ A4 Type
| PHB | = A3 EF Ball Screw Type

@ 2x| AlO|= Body Size
‘ 062 ‘ 062 | 080 | 080 | 100 | 0100 | 120 |

©

0120

@ &4 Shape

S : Xl&H Straight Type P : H& Paralle Type G :7tol=

@ AEZ3 Stroke

Guide Type

‘ 100 | 100mm | 200 ‘ 200mm | 300 | 300mm
‘ 400 | 400mm | 500 | 500mm
% 500mmO| &2 Atof| CHol M= EF2 thS&LICh
For specifications of 500mm or more, special order is available.
® ZH E}! Motor Type
‘ S ‘ Servo | T Step
® 2 E| 2F Motor Capacity
7= 2 (W) 062 080 100 120
40 400W )
75 750W ) [
100 TKW [
¥ DE A AL ME2 772 FYEL0 225t FHAL,
Please contact your nearest sales office for motor and reducer selection.
@ E2j|0]|3 B=F Motor Brake
| None | Without Brake B | With Brake
MA =2F Auto—s/w Q ty
1l 2 2 3 | 3
© OFRE =22 Mount Bracket (Option)
 FF RS 23X FM | EORE CFSL | ZxZtZORRE  TRN ELY ORE
Flange on load side Foot mount Axis right angle foot mount Trunnion mount

X OF2E H2f2le MEfAr]L|Ct
Mount bracket is option.

272



= Smart Actuator

A Specifications

== a4 PHB062 PHBO80 PHB100 PHB120

EZX|| AtO|= Body size mm 062 080 0100 0120

2E X7 Rod diameter mm 25 $32 @45 #50

AT = XA Screw diameter MM $ 16 @ 20 # 32 % 40

AT E 2|E Screw lead mm/rev 5 5 10 10

HHEL A Reapeatability +mm 0.05

Z|LHAEZ 3 Maxstoke  mm 0~500

E|CH&E Maxspeed  mm/sec 250 250 500 330

Sl Force (X-axis, Z-axis)(%) kgf | X :200 Z:85 X:300 Z:160X :600 Z: 300X :1000 Z:

7 | =L XHZ! Basic materials 2 20|= OF=CHO| &l Aluminum anodizing White

%Bl2 71E BEC HaX| euch ZE HA Al &l 2 s « HEFELUID

% Force is the value of standard motor. If change the motor, Force value may vary or increase.

S Weight

AEZS 13 Efd (PHBOOOS) HE EIY (PHBOOOP) 7tol= Ef! (PHBOOOG)
Stroke Straight type Parallel type Guide type
{mm) 062 080 100 120 062 080 100 120 062 080 100 120
100 3.5 6.0 13.5 | 20.8 3.0 6.5 1.0 20.4 4.5 8.0 16.0 | 24.0
200 4.0 6.7 15.0 | 234 3.8 7.7 12.5 23.0 5.8 9.5 18.0 27.5
300 4.5 7.7 17.0 26.0 4.5 9.0 14.5 25.4 6.5 10.5 | 20.0 | 30.5
400 8.8 8.7 19.0 @ 284 5.2 10.5 16.0 | 28.0 7.5 1.5 22.0 | 335
500 6.0 9.7 21.0 31.0 5.8 1.5 18.0 | 30.5 8.5 183.0 | 240 | 365

500

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

[}
he)
S
B
L2
3
D
w
[a8)]
I
a
~
[an)]
(9p]
a

\ SBAC \ Gearbox

273



Xl 2% Dimension (mm)

S =IA™EY! Straight type

B il )
g%J%g,j%iii I
| | o— | )
B
S(Stroke) A
i i s
-
. — — i ,,E}
| | | ]
C D
E
AEZT PHB062 S
Stroke | A B C D E F G H | J K L M N
100mm | 30 18 278 72 350 @25 MIOx15 @42 @23 19 48 62 - 266
200mm| 30 18 378 72 450 @ @25 MIOx15 | @42 @23 19 48 62 - 266
300mm| 30 18 478 72 550 @25 MIOx15 @42 @23 @ 19 48 62 - 266
400mm| 30 18 578 72 650 @25 MIOx15 @42 @23 19 48 62 - 266
500mm| 30 18 678 72 750 @25 MIOx15 @42 @23 19 48 62 - @66
AEZ3 PHB080 S
Stroke | A B C D E F G H | J K L M N
100mm | 30 18 313 90 403 @32 | Mi4x2 @56 @30 24 64 80 - a9
200mm| 30 18 43 90 503 @32 @ Mi4x2 @56 @30 24 64 80 - a9
300mm| 30 18 513 90 603 | @32 | Mx2 @56 @30 24 64 80 - 29
400mm| 30 18 613 90 703 | @32 | M4x2 @56 @30 24 64 80 - 29
500mm| 30 18 713 90 803 @32  Ml4x2 @56 @30 24 64 80 - a9
AEZ29 PHB100 S
Stroke | A B C D E F G H | J K L M N
100mm | 50 35 383 102 | 485 @45 | Mi6x2 @74 @42 34 80 100 - o1
200mm | 50 35 483 | 102 585 @45 @ MI6x2 @74 @42 34 80 100 - o1
300mm| 50 35 583 | 102 = 685 | @45 | Mi6x2 @ ©74 Q42 34 80 100 - o1
400mm | 50 35 683 | 102 = 785 & @45 @ MI6x2 @74 ©O42 34 80 100 - o1
500mm| 50 35 783 | 102 | 885 | @45 @ Mi6x2 | @74 @42 34 80 100 - o
AEZF PHB120 S
Stroke | A B C D E F @ H | J K L M N
100mm | 50 35 438 | 132 570 @50 M20x25 @74 @48 36 9% 120 - @14
200mm | 50 35 538 132 670 ©50 M20x25 @74 ©48 36 9% 120 = @14
300mm| 50 35 638 132 | 770 @ ©50 M20x25 @74 @ @48 36 9% 120 - @14
400mm | 50 35 738 132 870 @50 @ M20x25 ©74 @ @48 @ 36 9% 120 - @14
500mm| 50 35 838 132 970 @50 | M20x25 ©74 @ @48 36 % 120 - 14

2 HE Mol £2E LIS U BE HEZo| AU Balo| SIS 25101 ALY 0 1Rl0| HAT 4 UBLICL
3 The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

274



Xl 2% Dimension (mm)

I.' Smart Actuator

P =i2ietel Parallel type

g g ——

S(Stroke)

-

AER23 PHB062 P

Stroke | A B C D E F G H [ J K L M N
100mm = 30 18 278 a2 320 @25 MIOx15 @42 @23 19 48 62 134 @66
200mm | 30 18 378 a2 420 @25 MIOx15 @42 @ @23 19 48 62 134 @66
300mm| 30 18 478 2 520 @25 MIOx15 @42 @ @23 19 48 62 134 | ©66
400mm| 30 18 578 2 620 @25 MIOx15 @42 @23 19 48 62 134 @66
500mm| 30 18 678 a2 720 | @25  MIOx15 @42 @ @23 19 48 62 134 @66
AEZ3 PHB080 P

Stroke | A B C D E F @ H [ J K L M N
100mm | 30 18 313 54 367 @32  M4x2 @56 @ ©30 24 64 80 74 @9
200mm | 30 18 43 54 467 @32  M4x2 @56  ©30 24 64 80 74 | @9
300mm| 30 18 513 54 567 @32 | Mi4x2 @56 @ ©30 24 64 80 74 @9
400mm | 30 18 613 54 667 @32 < M4x2 @56 @ ©30 24 64 80 74 @9
500mm| 30 18 713 54 767 | @32 | M4x2 @56 @ @30 24 64 80 74 99
AEZ3 PHB100 P

Stroke | A B C D E F G H [ J K L M N
100mm | 50 35 383 62 445 @45  MIBx2 | @74 @42 @ 34 80 100 214 of
200mm | 50 35 483 62 545 @45 MIBx2 @74 @42 34 80 100 24 o
300mm| 50 35 583 62 645 @45 MIBx2 @74 @42 34 80 100 24 o
400mm | 50 35 683 62 745 @45 M16 x 2 Q74 | @42 34 80 100 214 o
500mm| 50 35 783 62 845 @45 M16 x 2 074 | @42 34 80 100 214 on
AER] PHB120 P

Stroke | A B c D E F G H [ J K L M N
100mm | 50 35 438 70 508 @50 M20x25 @74 @ @48 36 9% 120 267 g4
200mm | 50 35 538 70 608 @50 M20x25 @74 @48 36 9% 120 267 g4
300mm| 50 35 638 70 708 @50 M20x25 @74 @ @48 36 9% 120 267 g4
400mm | 50 35 738 70 = 808 ©50 M20x25 @74 @48 36 9% 120 267 g4
500mm| 50 35 838 70 908 @50 M20x25 @74 @48 36 9% 120 267 g4

xE2 HE SgMol 258 8 U 2E HEo Ak 220l &
3 The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

2 216101 AFE o 2gl0|

=}

BHZAE A O

HEE 4 UsLICH

275

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

)
pe)
S
B
L2
3
D
w
[a8)]
I
a
~
[ag)]
(9p]
a

\ SBAC \ Gearbox



X2~ % Dimension (mm)

G 710|=EF! Guide type

u

]
Ll

u
UL Jd\

2x2-N

S(Stroke)

AEZ2 PHB062 G

Stroke | A B C D E F G H [ J K L M N
100mm | 48 18 164 62 146 a2 132 a4 118 30 68 @85 M8 = M6
200mm | 48 18 164 62 146 a2 132 a4 118 30 68 @85 M8 @ M6
300mm| 48 18 164 62 146 a2 132 a4 18 30 68 | ©85 M8 M6
400mm 48 18 164 62 146 a2 132 a4 118 30 68 @85 M8 @ M6
500mm| 48 18 164 62 146 a2 132 a4 18 30 68  ©85 M8 M6
AEZ23 PHB080 G

Stroke | A B C D E F G H [ J K L M N
100mm | 48 18 184 80 166 58 152 44 138 30 80 | @9 M8 M6
200mm | 48 18 184 80 166 58 152 44 138 30 80 | @9 M8 M6
300mm| 48 18 184 80 166 58 152 44 138 30 80 | @9 M8 M6
400mm 48 18 184 80 166 58 152 44 138 30 80 | @9 M8 M6
500mm| 48 18 184 80 166 58 152 44 138 | 30 80 | @9 M8 M6
AER3 PHB100 G

Stroke | A B c D E F G H [ J K L M N
100mm | 70 20 | 204 100 182 78 172 58 140 40 80 @11 MO M8
200mm 70 20 204 100 182 78 172 58 140 | 40 80 @11 MO M8
300mm| 70 20 | 204 100 182 78 172 58 140 40 80 @11 | MO M8
400mm | 70 20 204 100 182 78 172 58 140 | 40 80 @11 MO M8
500mm| 70 20 | 204 100 182 78 172 58 140 40 80 @11 | MO M8
AE23 PHB120 G

Stroke | A B C D E F G H [ J K L M N
100mm | 70 20 24 | 120 | 202 98 192 78 160 60 9% @14 MO M8
200mm | 70 20 24 | 120 | 202 98 192 78 160 60 9% @14 MO M8
300mm| 70 20 24 | 120 | 202 98 192 78 160 60 % @14 MO M8
400mm | 70 20 224 | 120 | 202 98 192 78 160 60 9% @14 MO M8
500mm| 70 20 24 | 120 | 202 98 192 78 160 60 % @14 MO M8

X2 ME HAYMol|l £EE U8 Y 2= MB2 MA2 SE| S {I5t0] AR of2glo] HEE & UELICH
# The contents of this manual and all product specifications are subject to change without prior notice for quality improvement.

276



N

| 2= % Dimension of Mount Bracket (mm) I-' Smart Actuator

2= Z2iX| 0l2E Flange on load side

A
— ey
DY & i 1T 1 1 ’—‘ 1 P\
olo % -} D \
p [ — e |
N ] ‘ ‘ é
2 | 1 ‘ )

=3yl X|== Dimension (mm)

Body Size A B C D E E
0062 10 62 90 42 12.5 29
0080 128 80 108 60 12.5 29
100 150 100 125 76 16 on
0120 172 120 147 96 16 214

FM =

Ot2E Foot mount

1 f a2 b 7
<. Ej | %7 D F
— = J
1 | I g
2-|
LG | 2-L
i ! | B
7 ¥ . ] =
@7 8 | 5)
=~ o | | s s
] | =TT =
LB N
D
3ol X|4= Dimension (mm)
Body Size A B @ D E = G H | J K L M N
0062 62 72 41 34 22 44 20 10 R4.5 85 104 @85 12 36
0080 80 92 52 36 24 62 20 12 R4.5 105 124 @85 14 45
0100 100 125 75 45 30 80 24 15 R5.5 124 146 o 1 17 51
0120 120 145 85 45 30 96 28 15 R&IS 144 166 @11 17 66

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

)
pe)
S
B
L2
3
D
w
[a8)]
I
a
~
[ag)]
(9p]
a

\ SBAC \ Gearbox

277



OI2ESH3! X2 Dimension of Mount Bracket (mm)

FSL =x1zt = o€ Axis right angle foot mount

& 1 i
\ 1 a2l
Sqm———
% ‘ | ©-
@ &l
B
! ! ’—‘ 1 f
@T{T | e | =
QJLE ]
I | )
[1 w L] L[]
A Lo Lo
Tl X|4= Dimension (mm)
Body Size A B C D E F
0062 104 20 85 20 10 a9
1080 124 20 105 25 12 a9
1100 146 24 124 35 14 on
0120 166 28 144 40 16 on

TRN Ezud ol2E Trunnion mount

. (E '
: CHHE  TRN-M
> JINRNIN I
g 75 - WW A E@f\@g A M \
& S \éLuL VEe———==gprTo—— ]
1 1 | )
Center
E F
TRN-M
ool X|% Dimension (mm)
Body Size A B C D E E
0062 122 98 #10 #15 1.5 15
0080 140 116 #10 #15 1.5 20
0100 172 142 #15 $20 15 315
0120 192 162 #15 $20 15 49

278



HsS4aed A 8% Electric Cylinder Purpose of Use = smart Actuator

\ n
a
y I
a-
(an]
a
4 T
Q-
> Conveyor Push > Conveyor Push > Conveyor
O
a
I
[a
—
a
/LN = -
[ >

= -
I
a-

> Syringe Injection > Bottle Guide Height Change > Switch Test (Right)
(s
w
a
5
a-

o P
—

+ W

> Smart Actuator > Resolute Position Motion > Switch Test (Trimetric)

>
o
<
=
5
2
8
@
w
e8]
I
(o
~
an)}
(9p]
a

>
o
o)
S
D
&)
3 I . (@)
<C
(e8]
wn
o [ ]
—— T
> Conveyor High > Work Fix > Conveyor Verticality (Trimetric)

279



| Position, Fill, Assemble

* Printing

* Part Verification
* Precision Filing
* Stamping

* Pressing

* Labeling

| Gating, Sorting

* Rejection
* Guiding

* Guide rail width change

I Applying, Dispensing

* Spraying

* Cutting

* Slitting

¢ Test Fixtures
* Inspection

* Filing Nozzle Positioning

| Storage, Retrieval

* Parts Transfer
* Pick & Place
* Stacking

* Sorting

* Palletizing/De—palletizing

280



; I
Bevel Gearbox H2 Al =9 At Precautions on Apply to Bevel Gearbox = Smart Actuator

M Al OIS

B V1% ZQ8t Afto =M AlE! B Most importantly, if the cylinder

Ho| £T0o| KX||X| o™ is not leveled, it will cause noise

Aemt X=9| olo| ElLct, and vibration,

ALIGNMENT

2rH O|Ate| 5|1 LU &5 7|A412 XEHEt I LE=0| When combining two or more rotating and lifting machines,
= =i =0 oimixt ) sz=o| M5 HiE = R they must be arranged in such a way that the center of

= [ HISE, 2d3E, Hold st5el =Eat Hihzol ?I"'O'I = rotation and elevation center line are aligned exactly so

He, g 2 QUEE MS7H 5| L &5t SAMO0| Hats| 2X|  that the twisting, thermal expansion and bearing load of

the frame to be attached may cau
eccentricity of the rod, which can

seriously affect cylinder life,

B ROD Z F=20i /I%I3F LIAIS 0183l 2t MElEfe| LEVELS
S FAILIC
LEVELO| RX|=|X| ¢S Al H5Es 2 2E{O| u}H5} ¢
ol 4= ASLICH

o

0|

B Keep the level of each cylinder the same with the screw located at the end
- } 'I y of the rod. If level is not maintained, may occur overload to motor,

X SElf (of]) Application Type (Example)

Input

SH=2 Higshof Ehct the axis of motion can be properly distributed,

B 55 2 o X2 A B, off ZEA| =
LIS Z2E Al ROD2| Ty olet HISZI0| HOo{LHX|
ol & & U2l ol Z=lstioF gfLct.
A ol ofziet Z2utg
Zefgict

B Be careful not to twist by bolt when
assembling upper and lower part,

281

PLR \ PSR \ PHM \ PHRT \ PHRC \ PHRB \ PHRS \

-
pe)
S
B
L2
3
D
w
[a8)]
I
a
~
[ag)]
(9p]
a

\ SBAC \ Gearbox



MEMO

282



